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9. Find the compound interest on Rs. 1000 at the rate of

20% per annum for 18 months when interest is

compounded half yearly. - A o i .2\7 X 1o
> e i 0 I

Fo =

a. /Rs.

b. Rs.1331 —‘??')/'

c. Rs.320 CI:Z?"/?’M

d. Rs.325

9. 1000 F9¥ 9T 18 HEA & fav 20% wiay a¥
$ & ¥ THJEY oA P, F1d T

s s F AT aar B
v :

s = =%/
2

b. . 1331
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10. Find the principal if the interest compounded at the 10.3Z  aff & AT 10x s a¥ A T A
rate of 10% per annum for two years is Rs. 420. m eait 420 3‘1’{8 ar Heu ATd I

\/(2000 %’//OKP = \/ooo

b. $. 2200
b. Rs.2200
e c. ¥. 1000
c. Rs.1000 P_ZQQO
= d. 357 A FIZ AR
d. None of these ]




i

11. Find the principal if compound interest is charged on 11. 3% HEYUw o & ast &| AT 16(2/3)% 9
- af Y aT A IHIEY SIS ST S g AR
the principal at the rate of 16(2/3) % per annum for two .
sia kb i 196 T9A & S §, A HAEUA AT H

years and the sum becomes Rs. 196.

2
o AT svie (3= p (Il )

a.

16 b. ¥. 154

b. Rs.154 p &
o P;36K c. §. 150 ,3 ;Q,) | /’-

%:n::fmese :IH\;‘ \ yﬁ#maﬁ é ( - ()

19 (= P(%;)L

\
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/1= 575

12. Rajan purchased a Maruti van and the 12 TS & 196,000 397 & & AR & @A
rate of depreciation is 14(2/7) % per annum. Find the R Femerw I 14(27)% wia a¥ &) ar a9

value of the van after two years.

a. Rs.1,40,000
\b/< 1,44,000
¢. Rs.1,50,000

d. None of these

ae & & qed Ad Do
= A
a.%$. 1,40,000 (.l - 7 M( _,(1?/.
\b/.l/l,M,OOO % ' é , -+
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